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dtiEE 7 19 3 4 26 0.6
FEHE 1 1 0 0 1 0.0
EFER 1 0 1 0 1 0.0
diEdE- [EHE 5 4 0 2 6 0.1
R |(BEER 1 0 1 0 1 0.0
T} A 2 1 1 0 2 0.1
=ER 2 2 0 0 2 0.1
it 19 27 6 6 39 0.9
KR 4 3 1 0 4 0.1
HARR 3 1 2 1 4 0.1
HESR 8 6 3 1 10 0.2
RS BER 11 8 5 1 14 0.3
FEE 12 4 10 2 16 0.4
BRI AR 717 762 623 297 1,682 40.6
#/HE)NE 37 28 19 17 64 15
B 792 812 663 319 1,794 43.2
Fiag 2 2 0 0 2 0.1
ELE 7 7 2 5 14 0.3
iE (BIE 12 7 4 5 16 04
BEHE 14 7 7 2 16 0.4
it 35 23 13 12 48 1.2
AT 2 1 1 0 2 0.1
RHE 13 10 4 4 18 0.4
Iz B2 18 16 19 12 3 34 0.8
hE |BEE 27 22 11 8 41 1.0
B 121 110 56 52 218 5.3
=58 22 21 9 4 34 0.8
gt 201 183 93 7 347 8.4
HEER 29 30 24 4 58 14
RERAT 174 123 174 69 366 8.9
KB AT 509 435 327 206 968 23.3
i EER 109 68 53 28 149 3.6
ZRE 25 25 26 3 54 1.3
fFLE 17 13 11 1 25 0.6
it 863 694 615 311 1,620 39.1
EHRE 5 1 4 0 5 0.1
SRR 3 2 1 0 3 0.1
hE fif] L R 14 14 8 1 23 0.6
LEE 26 22 9 7 38 0.9
[T =]} 11 14 6 3 23 0.6
&t 59 53 28 11 92 2.3
wmBE 8 7 5 3 15 0.4
! 9 8 4 3 15 0.4
ME |ZREE 11 7 5 1 13 0.3
SR 3 3 5 0 8 0.2
H 31 25 19 7 51 1.3
a2 28 18 20 7 45 1.1
HEER 2 4 0 0 4 0.1
RIGE 2 3 1 0 4 0.1
REARIER 3 3 2 0 5 0.1
AW | KRR 7 8 0 0 8 0.2
= 2 2 0 0 2 0.1
BERER 2 1 1 0 2 0.1
iR 2 1 1 0 2 0.1
g 48 40 25 7 72 1.9
VANES 3 2 5 1 8 0.2
T |[ZDih 1 24 35 2 61 15
H 4 26 40 3 69 1.7
&5t 2,052 1,883 1,502 747 4,132 100.0
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